P f "l Q
Use th( Mean Value Theorem jo determine where the s ofthe secant
DF ad Yhe line equi ¢ slope ol the tangent line
Slope between |A) fix)=x" [24] . 1 ) X"’-
ends d, \ntedua! 1 i
0} LQIH\ (Hn“") q E X
(.2> Tt&.'l’ue 'H\( d.rﬁuq’l‘?( 1
§ funchion 2¢= 6 v
(9 X’:S f/: ! [ -
AQ - A A AL
N oc TL‘_EOC 7/& 3 4y
GPQ = Ce(l“ad':\l‘l
4 o)
(IIW (8,2) {o)o\ (li\)
Ll = 2= B}
Q_,.; \( - _.l_ &* X'D
2=3% etz Lo A | 407500
3 3 3 3 1,"3
,23|2 2) 3[2_ L l - _I_
( 3 K™ T
D) fix)=x* [-2,2]
?Y)'?_- /3= {
(‘ dy
> (‘zl"h (2"Llj Lh,:i
5‘0(?{_"‘..- O Y Jaau
o= \"\—"\_tél/'\/«
2x=0
X | 1
G 7 B

Zﬁlt'.l g e

mvT fjvufmiug po¥hiny
}J/c £(x) not A {fe anbinbie
4+ X=0



o

(ale OK

92. ' Let f be the funciion defined by f{x) = x + In(x). What is the value of ¢ for
which the instantaneous rate of change of [ at x = ¢ is the same as the average
rate of change of f over [2. 6]7

£(R=x+ 2+ 2,6)
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Sloge = MROC= _6 +0ab= (2:4a)
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Cl= 1+

If f(x)= co{j] then there exists a number ¢ in the interval E< tﬂ%thﬂt

satisfies the conclusion of the Mean Value Theorem. Find those values.
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CALCULUS: 6raphical, Numerical, Algebraic by Fii : na, Watts Kennedy
Chapter 8: Applications of Derivatives  8.2¢ L'Hopitals Rule pg. -452

What you'll Learn About:
How to use derivatives to find limits in an indeterminate form

Why L'Hopitals Works
Sketch the graph of two curves with the following characterih
|
£6O slope=fl

‘ (3.9)
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a) Write the tangent line for f{x) b) Write the tangent line for g(x)
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